HBEHmIU—2 - UYA Lt 5—
RELSGREELITE

M = FH HE
S 7 & 4 H

A REEMBHIRRR




IR

o OE KO O£
T i i il i pall! #H B =
. T
1-1. | ¥4 T m 2 730
1-2. | BRiET (£28) m?® 213
1-3. | B+ I (HExEkt) m?2 8, 160
1-4. | BtT (BRREL) m?® 6, 070
1-5. #BR m?3 170
T BRER - /DR
1-6. BEtausnT 18 37 Hh (2B m? 43
1-7. BEBAL m?3 14, 190
1-8. FEERI m?2 1, 640
BtEm
1-9. [ {EEL— I m 2 790




¥ OB RO O£ 2
T i i il i
2. ¥ vyvyEVST

#H &
2-1.  Le»XKki—F+I

HAL 0 &

2-2. REIKHEIKE ¢ 200

6, 150

m 112
2-3. RIEIKHEKE 150

m 192
2-4.  RERHEKE ¢ 150

596
2-5. BREARKEHRRT
0SAfL. ZhVET

2-6.

L
=

£ 2
FEEARKRERRT

R 6
2-7. XTIRFRETL

L
=




BEAHE
0 & B O O#F 3
T Fifi il A1l i bl szl =R VA 5
2+ T
2-1. BHAEAEE m 31.9
W300 x H400
2-2. BHAERAE m 60.0
W600 x H600
2-3. BHHAERAE m 48. 4
W600 x H700
-4, EBHAERAE m 48.3
W600 x H800
2-5. BHAEAEIE m 46.6
W600 x H900
2-6. HHAERAE m 46.7
W600 x H1100
2-7. &ET m 54. 1
¢500 (EEE)
2-8. IRISITE Kt 3 1
600 x 600 x H640 (FF 1)
2-9. HRIGITEK# (& 5
900 x 900 x H950 (F )
2-10. | TRIZFTHE K4t 3 8
1000 x 1000 x H1180 (FE 14)
2-11. 1B AT Gl 1
AFLEE H=2780
2-12. | BEER L /K IHE - 518 = 1
<y L3E-EKS— F2E
¢500 (EEE)
2-13. | A s SHERHEEIE m2 486
MARHEKERBICES
As/E t=5cm
2-14. | i— FL—ILiE m 398
Gr-C-28
2-15. 3RO KR T 8




BRSO %
T il Jill L Bl WAL % &
I

1-1. ZE#hT TRIZE m® 130

1-2. | KREIL (£8) m?® 213

1-8. &ET (Bikt) m?® 8,160

-4 BEIT (B¥EL) m?® 6,070

1-5. | #BR m? 170

1-6. EitumnT m?> 43
1 ST 3 [ 2

1-1.  BAZX m?® 14,190

1-8. EEEMRT m? 1,640
BtiEm

1-9. | #EEY— T m? 187
et SE3




OB £ i O£ 2
T & & Al b Al bst) B AL B =
2. ¥FvyEVSIL
2-1.  LoXKP—F+I
m 2 6,148
2-2. | =BKHEKE ¢ 200 m 2 112.3
2-3. | ZBKHEKE ¢ 150 m 2 192.0
2-4. REREEIKE 6150 m 595. 8
2-5. BEHRIRERBT &G0 2.0
05AF.. ZF2ET
2-6. EEARKRERBET &G0 6.0
2-7. ETHRERETL i) AT 5.0




O B £ § F
T il i bl Al A1l JH H AL % &=
2.4+ % T
2-1. | BRHAERAE m 37.9
W300 x H400
2-2.  BERHAERAE m 60.0
W600 x H600
2-3. | BERAERAE m 48. 4
W600 x H700
2-4. | BERHAERAE m 48.3
W600 x H800
2-5. | BERHAERAE m 46.6
W600 x H900
2-6.  BHAERAIE m 46.7
W600 x H1100
2-1. BET m 54. 1
¢500 (EEE)
2-8. IRIGITE K HFr 1
600 x 600 x H640 (FE14)
2-9. IRIGITE KM HFr 5
900 x 900 x H950 (FE14)
2-10. WIGITHEK#H &l 8
1000 x 1000 x H1180 (*F-15)
2-11. 1B AH &l 1
ANFLFE H=2780
2-12. BEER L »/KIHE=E= - EIH m 2 6.0
<y F3B-EK— F2B
¢500 (EEE)
2-13. | A s SHEHEEIR m2 486
TRARHKEREICHES
As/E t=bcm




o B O£ A R4
mooa W B oG %
H— K L—L m 398
Gr-C-2B
3R 2 KER




Tt I % B M H ORI
T -7 -4 53-8 % &t =1 = B I =
+ =T T ERYI5RE
-1 BT (REHENHIT) 1800 x 0. 41 = 730 m?2 730
1-2 KRIEL (X8 4.080 X 52.2 m?® 213
EEXE OL00EHTHY
1-3 R+ T (IBirREt) R & Y BERMALTE THRMEEE
=2itEEXY 14,515.64 - 5622 - 730 | m?® 8,160
- = 8163. 74
1-4 BtI (BRELD) BRELE T5cml 6, 070. 46 m?3 6,070
TEHEELY
1-5 #BER 213 - 43 = 170 m?® 170
EEE ¢ 500
1-6 HEtusT 0. 820 X 52.2 = 42.80 m?3 43
FEE ¢500
-7 EAZX 8,163.7 + 6, 070. 46 - 42.80 m?® 14,190
1-8 ZEEBRI 786. 79 + = 786. 79 m 2 1, 640
ERGEE
Bt ikm 848. 26 + = 848. 26
LoKki—F
1-9 HEES— T 786. 79 + = 786. 79 m 2 787

BRI RE, RIEM




& §f ft BE %
T FE-FE Bl -4 Al - R #% Hi g = B #H =
2. FyyEVST
2-1 LoXKP—F+I 4252. 48 + 848. 26 + 730. 32
Eih {ERIHh 1:2.0 Fith m 2 6, 148
317.20
{E 44 30
2-2 ZBEKBEKE 6200 112.3 m 112.3
Lok — b EERHEEK
2-3 RBKEKE 150 42.7 + 61.10 + 47.6 m 192.0
Lok — b EERHEK 40.6
2-4 BEEHEKE ¢ 150 263.8 + 257.17 + 37.26 m 595.8
37.0
2-6 EBRHRIERRTI 2 &30 2
05AF.. ZhEET
2-6 EEAHAKERBL 6 BAT 6
-1 ETHREFETL 5 Elzi 5




& i E X 3
T iE-F8 7 -4 A -8R % 5 g = B =
ft % T 37.91

2-1. BHRAERAIE m 37.9
W300 x H400

2-2. HEASERAE 60. 00 m 60.0
W600 x H600

2-3. BHaERAEE 48.36 m 48.4
W600 x H700

2-4. BHEASERAE 48.33 m 48.3
W600 x H800

2-5. B HaERAEE 46. 61 m 46. 6
W600 x H900

2-6. BHEASERAE 46.70 m 46.7
W600 x H1100

2-7. &ET 54.13 &l 54.1
¢500 (EEE)

2-8. RIGFT k¥ 1 &3] 1
600 x 600 x H640 (F14)

2-9. BHIZFTE KM 5 k3l 5
900 x 900 x H950 (F5)

2-10. TIZFTHEK# 8 Elzi 8
1000 x 1000 x H1180 (1)

2-11. 1 &AL 1 &l 1
ANFLE H=2780

2-12. BEE% L w/KIH*E - 518 3.0 x 2.0 = m? 6.0
XY FOIE /N T ML
=

¢500 (EEE)

2-13. A s EHEREEIR 55.0 x 3.0 = 165 m 2 486
MERHBEKEREIZHED 321.2
As/E t=5cm

2-14. HF— R L—ILBE 398. 36 m 398
Gr-C-2B

2-15. B o kK &l 8




HERRE P

+ = 3+ E E (1)

183 SE A EEY Mt (BAL)
i | = BE ot E RE(TomER I B (WEE|TEayEE L B =

m m2 m2 m3 m2 m2 m3

No.0 —11.18
No. 0 11.18 15.5 7.75 86. 65 67.7 33.85| 378.44
No. 1 20. 00 170.6 93.05| 1, 861.00 132. 7| 100.20[ 2, 004. 00
No. 2 20. 00 206.5| 188.55] 3, 771.00 164.6| 148.65| 2, 973.00
No. 3 20. 00 265. 7| 236.10] 4, 722. 00 169.2| 166.90[ 3, 338. 00
No. 4 20. 00 267.0] 266.35] 5, 327. 00 164.3| 166. 75| 3, 335. 00
No. 5 20. 00 45.5] 156.25[ 3, 125. 00 72.0] 118.15] 2, 363.00
No.5 +3. 45 3.45 22.75 78.49 36.00] 124.20

18,971.11

14,515.64“




HERRE P12

r E &t E & @
=BT BEAL) LekS—F
A R BEOBE| BT E R |TFHWER M B |(WEER|THER| @ B | B =
m m’ m’ m° m m m’

No.0 -11.18
No. 0 31.18 21.9 13.95| 434.96 37.1 18.55| 578.39
No. 1 20. 00 49.8 38.85[ 771.00 49.1 43.10[ 862.00
No. 2 20. 00 60.5 55.15( 1,103. 00 99.0 94.05( 1,081.00
No. 3 20. 00 10.8 65. 65| 1,313.00 64. 6 61.80( 1,236. 00
No. 4 20. 00 66. 5 68. 65| 1,373.00 68. 2 66.40( 1, 328. 00
No. 5 20. 00 34.5 50.50( 1,010.00 37.1 92. 65| 1,053. 00
No. 5 +3. 45 3.45 17.25 99. 50 18.55 64. 00

6,070. 46 6, 202. 39




=R A E O Bk e E%
B AEAE
T E: BRAEAE | T 2 BH0EAE | T 2 BHAORAE | T & BEfRaRAlE
300x400 E & 600x600 E £ 600x700 & E 600x800 I £
0.050 1800 0.250 | 30.00 0.230 | 23.66 0.198 | 29.90
0. 149 0.190 0.182 0.108
0.100  1.791 0.220  6.600 0.206  4.874 0.153  4.575
0.050  2.00 0.190  30.00 0.182  24.70 0.108  18.43
0. 061 0.130 0. 098 0. 166
0.056  0.111 0.160  4.800 0.140  3.458 0.137  2.525
0.061  14.00
0. 148
0.105  1.463
0.050  3.91
0. 074
0.062  0.243
EEEt  37.91 LEF  60.00 LEF  48.36 LR 48.33
EEEBCoEt  3.608 |  JEEBCOEt  11.400 |  JE#RCoEt  8.332 |  JEERCoEt  7.100
FHELCOE  0.10 [FHELCOE  0.19 [ THESMCE  0.18 | FHEMCOE  0.15




£ E R 2 BEK i 2%
;&
T & : BERAERAE T 7& . BHRAERAE I & T 7&:
600x900 E £ 600x1100 & £ £ K E K
0. 266 22.610 0.283 24.000
0.163 0.192
0.215 4.850 0.238 5.700
0.163 24.000 0.192 3.650
0.083 0.175
0.123 2.952 0.184 0.670
0.175 19. 050
0.100
0.138 2.620
ERE 46. 61 ERET 46.70 = =)
JEERCoEt 7.802 JEERCoEt 8.990
FHEMCE  0.17 |FHEMCE  0.20




= E R & 3 HEKHE 2%
Ekpt
T & RIS EKk#H T 7& : IRIGT kM T & RIGTEk#H T 7&:
0600 woE 900 B 1000 #oE 1B AR ARE
M 0.484 0.64 [M  0.955 1.11 [m 0.877 1.03 [m 2.777 2.93
15 7 1 2 1.399
VS900—1100 @ 500— ¢ 500 ¢ 500— ¢ 500
M 0.862 1.02 (M 1.423 1.58
8 3
VS900—900 $500— ¢ 500
M 0.736 0.89 [M  1.140 1.29
11 4 0.274
VS700—800 300_400, 600_1200 ¢ 500— ¢ 500
M 0.612 0.77 |M|  1.065 1.22
13 5
VS600—700 VS1100—1200
M 0.552 0.71 |M  1.047 1.20
14 6
VS600—600 M VS1100—1200
M 0774 0.93
9
VS800—900
M 0.832 0.99
10
VS800—800
M 0.658 0. 81
12
VS800—800
& 3 0. 64 & it 4.50 & F 9.05 & 3 2.93
& b= 1 & # 5 & # 8
1 HR 0. 64 1 H R 0.90 14 MR 1.14




= HOE 4 HEK it 5%
BE
I#E: EXE I 7&: I 7 I 7&:
¢ 500 £ K ST £ K £
0.58 5.28
0.83 3.70
0.83 7.55
0.83 6.27
2.16 40. 00
0.26 48. 48
0.26 1.30
0.26 0.34
= &t 54.13 & = =]

EHTHY 1.09




4 gL ERETE EmETE

R 4246, 94 i

sk 4309, ”ﬁﬁ B2.23x1.414=116. 27

S 441206 o 82.89 —

EE 5011, 3}3:4@ 5099, 75 x 1.118=670. 52

EEE=116. 27+670.52=786. 19mi

1 sty

1B B iR i g =X il B =
k| I |BmIEEER 116.27 + 670.52 = 786.79 | m 786




$oEG
£ ¥ LeKkd—b+ @&
L7k S — bR T mE
;’g ‘éﬁﬁ ;‘iﬂg Eﬁ j; 1, 118848, 26
I;Z% SE:’I[]?]E ghﬂﬁ 2?4‘. B7x=1, 154-317.20
4732 AR+EAR. 26+720 32-317 20=R, 143 Z8mi

1 54y
I B iR g = Bl 8 =
SEHhER 4252.48 + 730.32 4982.80 | m 4,982
SlEER 848.26 + 317.20 1165.46 | m 1,165
it 4982 + 1165 6147 m 6, 147




=R ;| R &% & %

T - 182 62nf

iEERLEIlT
321, 2t

13 gyt TI-B6. 88 - 20, 12

96 70 - 5 7. 79ri

o FH=06, 55 - 48, T4mi FH=98. 30 20 91nd

5.78nf 12.0int [Tk 0 DY
FH-06.80 : 20.00n% | oo

A 10M s a0 o sem

16, 82 35, 59nd FH=96. 81 23 4

FH-85. 63 - 40, 27nf g7 grt FIFOB.6T + 82, 03mi

FH=96. 33 : 20 gom O 290

FH=u6. 54 ¢ 16.50m

2335 520501 b os 67 agant
®

. FH=85.83 . 20.B6rd -,

£, 89 2

27 47nd T Fi-o4,07 - 48 33m
Y

FHEGE 04 17.00m
FH=83. 77 - 33, 24

. o FHe=gd. 97 - 19, %9

g.20ri TS oy on 2 (ont

o FH-83.85:19.89r o
1ATm 080T pey B 91 B
WL (EAL EERERT

18,15/ 3. 8End

211, 09r 0%, M

< 45, 04t + 23 2hni

755, 1T 192 50m

ST | -182 62nix 0 20u= - 16 52m  FHE x 1202

— FAt-219.61nd 147, 35m

L]

e == ®te m | 219.61
# OE (R BtinBHE7RXI77ILEFIVY)—F m | 182.62
B OB t=15m| Y SV NS m | 182.62
BmasmssE BIEk AsHiE|RE W= -#E1A mE= 321.2 m m| 321.2

E E I |BEIEEER m| 147.3




% i ER A A X IR ER
BRI AR
(0S#ir AF)
:
- | oEskyY
I B iR i g = Bl 8 =
avyy)—k~ 18-8-25 |V = 1/4 x T x 0.75 x 0.75 x 0.10 m 0.037
- 1/4 x b8 x 0.30 x 0.30 x 0.10
EILZIL 1:3 V=1( 1/4 x T x 0.8 x 0.82 - 1/4 m 0. 007
X 7 x 0.60 x 0.60 )x 0.03
T ik—ILE| $600 T-14 #8 1
FERIE, BT
RE) VT 59%kg & 1
600 x 100
& EE 169kg & 1
600 x 750 x 300
B B 429kg & 1
750 x 900
EBERA | C-40 t=200 (A = 1/4 X 7 x(1.10 x 1.10 - 0.30 m 0. 880
x 0.30 )
SEAMT AR xLE4 TN = 4 I 4
4.0(#8) x13x50% 120 L=2. Om
hEEA S V= 1.20 x 0.50 x 200 x 4 m 4.800
15~20cm
HRAIRE | BIKE ¢300(L = 2.50 m 2. 500
sEptuzrLoe| A J)LIEES | EE#F B i
0% HH B Lk A4 | t=10mm N=9. 8kN| A = 1.20 x 200 + 1.20 x 200 x 2 m | 15.200
=k il + 200 x 200 x 2
svvevse—tz| BHO#WHLR = 1




EE A R IR

HoHEE a0

' Tieli TR

BEH AREE
Tites g auu . X
TR 7 o
k- Sl o Rt S

Sutn
me

EFAAET e L L5 i
43 p VR PTRE LT

1 yirskyY

L] B b3 % g =® Hil 8 =

HRIRE |BIKE 200(L = 2.50 m 2.500
smERUIFLUE| O U LIEE

EE#F [[RKE H200|N = 3 & 3
UG LEEE

90° T LR [JRIKE ¢ 200|N = 2 & 2
DU VEE

60° T /LR [JRKE $200|N = 1 & 1
UG LEEE

BRELEN T b =® 1

BWET
svvevsy—tz| BEOHHLR % 1




% b1 BHAEAEE 300 x 400
B AR AE
300 x 400
500
—j;“’” S+ | -8
gl = 2 ot
|
: [ —3E
%— = 2 HB-} 18-8-25
| ERE C 40
600
10 m3It=yY
B B iR i g = Bl 8 =
HBERE | EHEEY A 0.12 x 2 x 10 m | 2. 400
#egaroy—r 18-8-25 |V 0.12 x 0.60 x 10 m 0.720
EBERE | C-40 t=100|A 0.60 x 10 m 6. 000
B Y— k| 48—kt V 0.10 x 0.30 x 10 m 0. 300
BRaEcEE 300x400 (N 10 =~ 2.00 & 5.0
L=2. 00m 399kg/1@
FL—F 5% | M L=1.0m|N 10 = 2.00 34 5.0

T-20

30kg/ K




£ i BHAEEE 600 %600
B Bt ElE
600 x 600
. 830 B
115 600 115 $ Jlﬁﬁggﬁ‘
g_ﬂ LT IIIIII'.Il"‘
E N -
o -k : = 3
TH-# )
-
shps N
N iy 5
8 =
430
10 m¥i=y
I B iR i g = Bl 8 =
HBERE | EHEEY A 0.12 x 2 x 10 m | 2. 400
#mavsy—r 18-8-25 |V 0.12 x 0.93 x 10 m 1.116
EHEEEAR | C-40 t=100|A 0.93 x 10 m 9. 300
B8 U— k|4 oi—rav-t| V 0.19 x 0.60 x 10 m 1.140
B4R AIE| 600%x600 |N 10 = 2.00 {& 5.0
L=2. 00m 154kg/ &
FL—F oo E|fwA L=1.0m|N 10 = 2.00 34 5.0

T-20

80kg/ K




4 gL BHAEEE 600 x 700
B RS EcaliE
600 x 700
830
115, 600 115 %%ﬁ%%?%%%?
] M
g IR
- N ]
R | & -
“jHW?SIESJ : § 2 &
2N
HERE
g
430
10 m%f=y
B B iR i g = Bl 8 =
HBERE | EHEEY A 0.12 x 2 x 10 m | 2. 400
#egaroy—r 18-8-25 |V 0.12 x 0.93 x 10 m 1.116
EBERE | C-40 t=100|A 0.93 x 10 m 9.300
B Y— k| 48—kt V 0.19 x 0.60 x 10 m 1.140
BRaEEE 600x700 (N 10 =~ 2.00 & 5.0
L=2. 00m 885kg/ 1@
FTL—F o5& MR L=1.0m|N 10 = 2.00 34 5.0

T-20

80kg/ K




4 gL BHAEEE 600 x 800
B B A EAE
600 x 800
" 830
?F_EQHMhMIWH
Y
N | ¢ .
1 ?_J\Ié.té fg g—r § 2
2%151—3—2_5\ N
N
ERRE HE L
G40 : =l
| g
430 I
10 m¥i=y
B B iR i g = Bl 8 =
HBERE | EHEEY A 0.12 x 2 x 10 m | 2. 400
#egaroy—r 18-8-25 |V 0.12 x 0.93 x 10 m 1.116
EBERE | C-40 t=100|A 0.93 x 10 m 9.300
B Y— k| 48—kt V 0.15 x 0.60 x 10 m 0. 900
BRaEEIE| 600x800 (N 10 =~ 2.00 & 5.0
L=2. 00m 955kg/ 1@
FL—F 5% | M L=1.0m|N 10 = 2.00 34 5.0

T-20

80kg/ K




£ g1 BHAEEE 600 x 900
B A EEE
600 x 900
80
600 1 HL—F g 120
L/ L e R
T
{un —pauyl- y %
ENEE= e
BRE-b
18-8-25
Hie
ERHE =
C-40 ]
=il
i
330
10 m&f=y
B B iR i g = Bl 8 =
HEBERZ | EHEEY | A 0.12 x 2 x 10 m | 2.400
#@garsy—r| 18-8-25 |V 0.12 x 0.93 x 10 m 1.116
EHEEEAR | C-40 t=100|A 0.93 x 10 m 9.300
B8 U— k|4 oi—rav-t| V 0.17 x 0.60 x 10 m 1. 020
BEaEliEl 600x900 |N 10 -~ 2.00 1A 5.0
L=2. 00m 1030kg/ &
FL—F oo E|fwA L=1.0m|N 10 = 2.00 54 5.0

T-20

80kg/ K




4 o BHEAE/E 600x1,100
B A AlE
600 x 1100
830
115 600 115 ﬂﬁz;éiﬁﬂ%%_
g_ [T I-IIII|§I
N N| 8
A N |
\ P g
o -tom-t [N N
15_—8|—_25 q \
é%%%f\\ N [ L
_ERRE P
C-40 o
930
10 m¥i=y
B B iR i g = Bl 8 =
BT | EHEEY A 0.12 2 x 10 m | 2.400
#@aroy—+| 18-8-25 |V 0.12 0.93 x 10 m 1.116
EBERE | C-40 t=100|A 0.93 10 m 9.300
B Y— k| 48—kt V 0.20 0.60 x 10 m 1.200
BHRaEAIE| 600x 1100 |N 10 2.00 & 5.0
L=2. 00m 1320kg/ &
FTL—F o5& MR L=1.0m|N 10 2.00 ® 5.0

T-20

80kg/ K




2 L 2BEKEEKI @150
2B IKBEKI ¢ 150
(LoK— b LEEHEAKT)
1000
- 2
%L—Eﬁjtﬁl_h 250 { 500 250 | Z @ Sk A
Sl = e el ; £ @ o Tl = o ol
k. ¥, L 4 E \
- / o~ 5 B ot (FAL)
f 2000
_BNRE 45 MRk E GERE G 150)
" FNEE HIE
10 m¥élf=t)
B B b3 % g =® Hil % =
BEEKPFKE|FIKE ¢ 150|L = 10.00 m | 10.000
mmgtuzrLoe| A J)LEEE
T4 —M|BEHBR4S|V = {(0.50 + 1.00 )+ 2 x 0.25 - 1/4 | m]| 1.561
30~20 X T x 0.20 x 0.20 }x 10
0% B G5 LE 44 | t=10mm N=9. 8kN| A = 221 x 10 m | 22.100

=Eo N il




G M =EKEEKI ¢200

2EKHEKI 6200
(LoK— bk EEpHEKT)

miEEL (BAL)

500

150

250

Bt (AL
saRE4n/ N BESAE GRS 5200

FILEE HAE
10 m3r=yY
I B iR Ui g =® Hil 8 =
BREKHKE|KRIKE 200|L = 10. 00 m | 10.000

saEryrrLLE| X J)LIEE

T4 —#|BHBRRIE(V = {(050 + 1.00 )+ 2 x 0.25 - 1/4 |m 1. 561

30~20 X T x 0.20 x 0.20 }x 10
0% B G5 LE 44 | t=10mm N=9. 8kN| A = 221 x 10 m | 22.100

=Eo N il




=R ) EREBEKI ¢ 150
BEREHIKT
2400
\ 830
-
BB v — b & I Lt
7%5—4%%’%@ FILEE] :&Eﬁfﬁef@ :Eo(ﬁf FILE)
BHEHE S
\'""*-._
FoyEuF—t /<
10 m#y
5 B | #H 18 " Bl B 8
ERPEKE [BIRE H150|L = m | 10.000
smpkuzrLoe| A D LIS
T4 —M|BEHBRRIS|V = + 0.85 )+ m| 2.186
30~20 x 0.15 x 0.15
R V= + 0.95 )+ m | 0.900
0% HH B LE 44 [ t=10mm N=9. 8kN| A = + 0.45 x 1.414 m | 13.363

=L N %l




4 o E E & ¢500
g £
@ 500
630
430 =
\ ;
a BELEIL ‘ ' -
i %
a '8_- < R TR ey o) OF |
Y _g—
- 18-8-25
600
10 m%f=y
] B | & i g = il B =
i Hil v 200 x 2.04 x 10 m | 40. 800
o] B v 2.96 x 10.00 m | 29.600
Eams v 40.80 - 29.60 - 3.00 m 8. 200
7AITI MR v 0.30 x 10 m 3.000
ETRAAMSLE L 10 m | 10.000
A - 5|3k
rcaamstE| EE@EE (A 2.04 x 10 m | 20. 400
@30mt v k
HBERE | EHEEY A 0.10 x 2 x 10 m | 2.000
#egaooy—r 18-8-25 |V 0.10 x 0.60 x 10 m 0. 600
EBERE | C-40 t=100|A 0.60 x 10 m 6. 000
FEIILFIL 1:3 v 0.43 x 0.02 x 10 m 0. 086
EXE ¢ 500 N 10 =~ 2.00 & 5.00
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EEERRA [C-40 t=150/A = ( 1.10 x 1.10 )x 1 m?2| 1.210
B |EEEmMA= (09 x 0.79 x 4 + 0.60 x 0.64 m2| 3.792
x 4 - 030 x 049 x 4 H)x 1
ghavsy—r| 18-8-25 [V = [ 0090 x 0.90 x 0.79 - 0.70 x 0.70 m°| 0.362
x 0.066 - 0.60 x 0.60 x(0.64 - 0.065 )
-(0.49 - 009 )x 005 x 2 }x 1
% D13 kg
h L-Fvh 2 600 x 600 |N = 1 & | 1.000
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HiER [C-40 t=150{A = ( 1.40 x 1.40 )x 1 m2| 1.960
B OB [MEBHEWMA= (1.20 x 1.10 x 4 + 0.90 x 0.9 m?2| 6.780
x 4 - 060 x 0.80 x 4 )x 1
$kavsy—+| 21-8-25 |V={ 1.20 x 1.20 x 1.10 - 1.00 x 1.00 m°| 0.588
x 0.080 - 0.90 x 0.90 x(0.95 - 0.080 )
-(0.80 - 0.09% )x 0.15 x 2 }x 1
&% D13 45.25 kg | 45. 251
5 b-Fv% 2= 1900 x 900 (N = 1 & 1
120 - &@E | R HEE
BHEY [W3000 19 |N = 3 & 3
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B OB NEIEEYIA = (1,30 x 1.33 x 4 + 1.00 x 1.18 mZ| 9.212
x 4 - 60 x 0.99 x 2 - 60
x 1.03 x 2 )x 1
gkavoy—+ 21-8-25 |V ={ 1.30 x 1.30 x 1.33 - 1.10 x 1.10 m®| 0.774
x 0090 - 1.00 x 1.00 x(1.18 - 0.090 )
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120 - &@E | R HEE
Bt [W300019 [N = 3 {& 3
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1/4 | m®| 0.007
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EER{TEE 673ke & 1
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E ki 249kg 1 1
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HBAE [c-40 t=200|A = /4 x w7 x 1.10 x 1.10 m?| 0.950




